o
[N

<0 > (rad)
o
o [
[ [¢)]

............

iy

W[TTTT T

-1 0 1

2

3

TP n (PCA to beamline)

< o cot(y) >

..........

...........

ey

W[TTTT T

-2

-1 0 1

2 3

TP n (PCA to beamline)

_MKFI5_T Told-Tow

mkFit_TTold-lowpt

<4

T
mkFit_TT retrain-ﬁ)wpt

mkFit TT_NEWdefault_specPLess3-lowpt

100

(23 e ]
o O
TT

< 00, > (M)
D
o

(@)
TTT [T T[T TP [T rrr[rrr

20

8

..........

..........

Tub b o
N ‘:%”i*'ﬂ“é’% *: %

---------
T P

RatioI

0.95

W

-2

-1 0 1

2

3

TP n (PCA to beamline)

<0 / > (Y
PP, > (Y0)
O = N W N O

.......................

(O R B R LR R RN R RNl RRR R RRRRN RN RN AR RARRN LRRL

-2

-1 0 1

2

3

TP n (PCA- to beamline)

<od,> (um)

......................

.................

....................

RatioI

iy

0.95

W

-2

-1 0 1

2 3

TP n (PCA to beamline)



	Contents
	Page 1


